2006000000000 ODOODOO 9

2006.1.6 OO OO O

0000000000: 00000000
20 30 (0)16:00

oo ooooooooobobobobobobobobobobbboooooood
ooooboooobOooogbbooboooOobooooboooOoboeoODOOD
goobboooobobboooobbooon

ggobbbooooobbooon

http://www.cmt.phys.kyushu-u.ac.jp/~A.Yoshimori/b05guid.pdf

OPDFOODOOOOODOODOODOODODODOODOO

II-.3. 000000000000 0DO00OO
-1 00000000b000

00 (3-10000000000000000000): 0000000000000
0000000000000000000000000000001000000
0000000000000 000010000000000000000000
00000000000 10000 pM(r)00000000000000000
(DD 3200)

(3) 0000000000000000(0D)
0000080 (29)000000000000000000000000

P (r1,12) = pM(r1)pM (r2) (1)

ooooooooo,®(r,)00000000000(0O00000)

o) = =78 0w g [ P 00 (2

81‘1 61'1 ry




3-2 0000000

00 000000000 (DH)OOOOOO0OO0O0O00O000000000000000
O0g(r)000000000000000000000000000000000
0000
e 00000000000000000000O0O0O0O0O
e 00000000000000010000000000010000000

00 200000000000000(0000000)0
e 0000000000000O0ONONONONONONODHOOOOOOOO
e J0DHOOOOOOOOOOOOODOD(r)000000000 (D00)0
e 00000000000000000000000O0O0O0O0O0O
()0000000000
(2) 0000000
(3) DHO O

(4000000

00 0000000 DHOOOOODOOOOOODOOOOO0OO0OOO0O00 200300
0000000000000

RN

(2) 0000000
000000000 10000000000000000000

0oooO0O0 : 000 NGO 2000000000 0(r—r) 0OOO0O0O00OO0
ooooo . 00O0N-10 20000000000 (r—r) 0OOO0O0O0O0O0
+000000000000 o(r —rg)

O00000D10000020000000000pM (re)0p@ (r,ry) 00000
Doooo 100000 p(r)ooooo

00000000000000 PP (r,r) = p™(ro)pl) (r) (3)

0000000000000000000p@) (r,r) = p?g(r —10)0pW(rg) =p0 00
oooooo

pg(r —1o) = p{D(r) (4)

000000000000 0000¢(r)=v(r—rp) 0000

D gt o) = 2T gy / e P2 gl — v0) (5)



gd:

32 (200)P1O0DO0DOO0OOOODOODOODOO
allODOOOOOODOOOOODOOD

1 e?
= — 6
v(ry,r2) 4me |ry — ra] (6)

O00000D00e000000D00e00D0O0ODODOODOOO20000
oooooooad
1 qe

(7)

_R |I‘1 — I'2|

gooooboooood

_/d 1 g (8)

rQR |I‘1 — I‘2|

D0000000000000C_0000000000000000000
OD00D000 (2)000000000
DbOOOODOD 2)000000 pM(r) 0 p=00000000000000
0000000000 00000 (0o0o0)0p®(r,) 0000000
DoOo0oooooo
ODc00000D00DO00D0OpM(r)0000000
33 (300)320000 10000 32b000000000000000000000O
0000000000000 000000000 2=000002>001000
0000000000000 000000000000000000000000
00000000000 0000000 ¢O0000000000000000
ooooooo
Dad00000000 (2)000%(r) = —(ksT/q)lnpM(r)D000O0O

() = Zo(@) + Lpi () 9
0000000000000 000o0o0o000o0U (3-200)0000O0
00 ¢(r) 00000 »(r)00000000000000

Ob0(9) 00 2=00 s =00 00dy(z)/dz=000000000000000
(000: (9)0000000000000000000 Oimgode(z)/dz #

d¢(0)/dz000000000000O0)



34 (300) (40000000000 UUOOOUOUDODOOUODOOUODOOOOO
000000000000000000 ¢g(r)DD00O0O 2500000



